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RETFAN ER kAT BEREERE 01 BIHEH

1. RAGEOHBEZRKD L. (SHk12%, Ak20%, Bik30#, C#k40% )

(1) (2)
10 cm
8 cm
6 cm T T 16cm =
* RAFEOHEE * RAFEOHE
T x &2 = EE fcT x &2 = EE
10cm x 6cm = 60cm? BZX 8cm x 16ecm = 128 cm? B X
2. zDOREIZERDL. (SHISH, A2, B35, C a5 )
(1) (2)
5cm 20 cm?
T cm 216 cm?
..~,. Tem -_,»' _______ 18 em
* RAFOHEL S DHEE * RAFEOHELI S DFEHE
mE + kT = & == +~ &2 = kT
20cm? = 5ecm = 4cm - BZA 216cm? = 18cm = 12cm  BZ
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3. EhAEomEZRDX. (SHh12F, AK208, B30, CH40 )

(1) (2)
12cm
6cﬁ
\5 em’ T 18cm =
* RAFEOHEE * RATOHEE
T x &2 = EE fcT x &2 = EE
12cm X 5ecm = 60cm? B Z 6cm x 18cm = 108cm? FZX
4. zDOREIERD L. (S5, A2, B35, CHl45® )
(1) (2)
6 cm 42 cm? T cm 240 cm?
------- rem 15em
* RAFEOEEI S DHEH *x RAFOEEI S DHEHE
mE + kT = & 21k = +~ &2 = kT
42cm? = 6cm = Tcm  BZ 240cm? =+ 15cm = 16cm X
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